

# Implication Operator On Pythagorean Fuzzy Set

I.Silambarasan, S.Sriram

**Abstract**— Pythagorean fuzzy sets, involving membership, non membership and hesitancy considerations present mathematically a very general structure. Because of these considerations, it is possible to define several operations/ compositions of these sets. In the existing literature ten different operations on such sets are defined. These ten operations on Pythagorean fuzzy sets bear interesting properties. In this paper, we have identified and proved several of these properties, particularly those involving the operation  $A \rightarrow B$  defined as pythagorean fuzzy implication with other operations.

**Index Terms**— Intuitionistic fuzzy set, Pythagorean fuzzy set, Algebraic sum, Algebraic product, Implication operator.

## 1 INTRODUCTION

YAGER [9] introduced Pythagorean fuzzy set (PFS) characterized by a membership and a nonmembership satisfying the condition that the square sum of its membership and nonmembership is equal to or less than 1, which is a generalization of IFS. The motivation of introducing PFSs is that in the real-life decision process, the sum of the support (membership) degree and the against (nonmembership) degree to which an alternative satisfying a criterion provided by the decision maker may be bigger than 1 but their square sum is equal to or less than 1. Yager [10] gave an example to illustrate this situation: an expert gives his support for membership of an alternative is  $\frac{\sqrt{3}}{2}$  and his against membership is  $\frac{1}{2}$ . Due to the sum of two values is bigger than 1, they are not available for IFS, but they are feasible for PFS since  $\left(\frac{\sqrt{3}}{2}\right)^2 + \left(\frac{1}{2}\right)^2$ . Obviously, PFS is more effective than IFS to model the vagueness in the practical multi-criteria decision making (MCDM) problems. In the present communication, we prove some new results associated with standard Pythagorean fuzzy implication ( $\rightarrow$ ). The paper is organized as follows: In section 2 some basic definitions related to IFS and PFS theory are presented. In section 3 we define Pythagorean fuzzy implication operator and new results associated with the standard Pythagorean fuzzy implication operator are proved.

## 2 PRELIMINARIES

Some basic definitions related to IFS theory and PFS theory are presented.

**Definition 2.1.** [1] An intuitionistic fuzzy set  $A$  in a finite universe of discourse  $X = \{x_1, x_2, \dots, x_n\}$  is given by,

$$A = \{ \langle x, \mu_A(x), \nu_A(x) \rangle | x \in X \}$$

- \*I.Silambarasan, Department of Mathematics, Annamalai University, Tamilnadu, India. E-mail: sksimbuking@mail.com
- \*S.Sriram, Mathematics Wing DDE, Annamalai University, Tamilnadu, India. E-mail: ssm\_3096@yahoo.co.in.

where  $\mu_A: X \rightarrow [0,1]$  and  $\nu_A: X \rightarrow [0,1]$  such that  $0 \leq \mu_A(x) + \nu_A(x) \leq 1$ .

The numbers  $\mu_A(x)$  and  $\nu_A(x)$  denote the degree of membership and degree of non-membership of  $x \in X$  to  $A$ , respectively.

**Definition 2.2.** [10] Let a set  $X$  be a universe of discourse  $A$  Pythagorean fuzzy set (PFS)  $P$  is an object having the form,

$$P = \{ \langle x, P(\mu_p(x), \nu_p(x)) \rangle | x \in X \} \quad (1)$$

Where the function  $\mu_p: X \rightarrow [0,1]$  and  $\nu_p: X \rightarrow [0,1]$  such that  $0 \leq (\mu_p(x))^2 + (\nu_p(x))^2 \leq 1$

The numbers  $\mu_p(x)$  and  $\nu_p(x)$  denote the degree of membership and degree of non-membership of  $x \in X$  to  $P$ , respectively.

**Definition 2.3. IFS operators on PFS:** [7]

Let PFS ( $X$ ) denote the family of all PFSs on the universe  $X$ , and let  $A, B \in PFS(X)$  be given as,

$$A = \{ \langle x, \mu_A(x), \nu_A(x) \rangle | x \in X \},$$

$$B = \{ \langle x, \mu_B(x), \nu_B(x) \rangle | x \in X \}.$$

Then following PFS operators are defined,

$$((i) A \cup B = \left\{ \left\langle x, \max(\mu_A(x), \mu_B(x)), \min(\nu_A(x), \nu_B(x)) \right\rangle | x \in X \right\}$$

$$((ii) A \cap B = \left\{ \left\langle x, \min(\mu_A(x), \mu_B(x)), \max(\nu_A(x), \nu_B(x)) \right\rangle | x \in X \right\}$$

$$((iii) A^c = \{ \langle x, (\nu_A(x)), (\mu_A(x)) \rangle | x \in X \}$$

$$((iv) A \oplus_P B = \left\{ \left\langle x, \frac{\sqrt{(\mu_A(x))^2 + (\mu_B(x))^2 - (\mu_A(x))^2(\mu_B(x))^2}}{\nu_A(x)\nu_B(x)} \right\rangle | x \in X \right\}$$

$$(v) A \odot_P B = \left\{ \left\langle x, \frac{x, \mu_A(x)\mu_B(x)}{\sqrt{(\nu_A(x))^2 + (\nu_B(x))^2 - (\nu_A(x))^2(\nu_B(x))^2}} \right\rangle | x \in X \right\}$$

$$((vi) A @ B = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(\nu_A(x))^2 + (\nu_B(x))^2}{2}} \right\rangle | x \in X \right\}$$

$$((vii) A \$ B = \{ \langle x, \sqrt{\mu_A(x)\mu_B(x)}, \sqrt{\nu_A(x)\nu_B(x)} \rangle | x \in X \}$$

$$((viii)A\#B = \left\{ \left\langle x, \frac{\sqrt{2}\mu_A(x)\mu_B(x)}{\sqrt{(\mu_A(x))^2+(\mu_B(x))^2}}, \frac{\sqrt{2}\nu_A(x)\nu_B(x)}{\sqrt{(\nu_A(x))^2+(\nu_B(x))^2}} \right\rangle \mid x \in X \right\} = (A \oplus_P B)^C$$

For which we shall accept that if  $\mu_A(x) = \mu_B(x) = 0$  then

$$\frac{\mu_A(x)\mu_B(x)}{\mu_A(x) + \mu_B(x)} = 0$$

and if  $\nu_A(x) = \nu_B(x) = 0$ , then  $\frac{\nu_A(x)\nu_B(x)}{\nu_A(x)+\nu_B(x)} = 0$

$$(ix) \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2+(\mu_B(x))^2}{2((\mu_A(x))^2+(\mu_B(x))^2+1)}}, \sqrt{\frac{(\nu_A(x))^2+(\nu_B(x))^2}{2((\nu_A(x))^2+(\nu_B(x))^2+1)}} \right\rangle \mid x \in X \right\}$$

$$(x)A \rightarrow B = \{ \langle x, \max\{\nu_A(x), \mu_B(x)\}, \min\{\mu_A(x), \nu_B(x)\} \mid x \in X \}$$

**Lemma 2.4.** [2] For  $A, B \in [0,1]$ , then

$$a \cdot b \leq \min\{a, b\} \leq \frac{2(a \cdot b)}{a+b} \leq \sqrt{a \cdot b} \leq \frac{a+b}{2} \leq \max\{a, b\}$$

$$\leq a + b - a \cdot b, \quad a \cdot b \leq \frac{a+b}{2(a+b+1)} \leq \frac{a+b}{2}$$

In the next section, we state and prove some new results involving implication operation with other PFS operations.

### 3 RESULTS ON PYTHAGOREAN FUZZY IMPLICATION OPERATOR

**Theorem 3.2.** For  $A, B \in PFS(X)$ ,

- (i)  $(A^C \rightarrow B) @ (A \rightarrow B^C)^C = (A @ B)$ ;
- (ii)  $(A^C \rightarrow B) \oplus_P (A \rightarrow B^C)^C = (A \oplus_P B)$ ;
- (iii)  $(A^C \rightarrow B) \odot_P (A \rightarrow B^C)^C = (A \odot_P B)$ ;
- (iv)  $(A^C \rightarrow B) \$ (A \rightarrow B^C)^C = (A \$ B)$ ;
- (v)  $(A^C \rightarrow B) \# (A \rightarrow B^C)^C = (A \# B)$ ;
- (vi)  $(A \rightarrow B)^C \oplus_P (B \rightarrow A) = (A \oplus_P B^C)$ ;
- (vii)  $(A \rightarrow B)^C @ (B \rightarrow A) = (A @ B^C)$ ;
- (viii)  $(A \rightarrow B)^C \odot_P (B \rightarrow A) = (A \odot_P B^C)$ ;
- (ix)  $(A \rightarrow B)^C \$ (B \rightarrow A) = (A \$ B^C)$ ;
- (x)  $(A \rightarrow B)^C \# (B \rightarrow A) = (A \# B^C)$ ;

**Proof:** We prove (i) and (vi), results (iii),(iv),(v),(vii),(viii),(ix) and (x) can be proved analogously.

Let us recall following simple fact for any two real numbers  $a$  and  $b$ ,

$$\max(a, b) + \min(a, b) = a + b \quad (2)$$

$$\max(a, b) \cdot \min(a, b) = a \cdot b \quad (3)$$

(i) From Definition in (2.3) and Lemma (2.4), we have

$$(A^C \rightarrow B) @ (A \rightarrow B^C)^C = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2+(\mu_B(x))^2}{2}}, \sqrt{\frac{(\nu_A(x))^2+(\nu_B(x))^2}{2}} \right\rangle \mid x \in X \right\} = (A @ B).$$

(vi) Using Definition in (2.3) and Lemma (2.4), we have

$$(A \rightarrow B)^C \oplus_P (B \rightarrow A) = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\nu_B(x))^2 - (\mu_A(x))^2(\nu_B(x))^2}{\nu_A(x)\mu_B(x)} \right\rangle \mid x \in X \right\}$$

**Theorem 3.3:** For  $A, B \in PFS(X)$ ,

- (i)  $((A \oplus_P B) \rightarrow (A @ B)^C)^C = ((A @ B) \rightarrow (A \oplus_P B)^C)^C = (A @ B)$ ;
- (ii)  $((A \oplus_P B)^C \rightarrow (A @ B)) = ((A @ B)^C \rightarrow (A \oplus_P B)) = (A \oplus_P B)$ ;
- (iii)  $((A \odot_P B) \rightarrow (A @ B)^C)^C = ((A @ B) \rightarrow (A \odot_P B)^C)^C = (A \odot_P B)$ ;
- (iv)  $((A \odot_P B)^C \rightarrow (A @ B)) = ((A @ B)^C \rightarrow (A \odot_P B)) = (A @ B)$ ;
- (v)  $((A \oplus_P B) \rightarrow (A \# B)^C)^C = ((A \# B) \rightarrow (A \oplus_P B)^C)^C = (A \# B)$ ;
- (vi)  $((A \oplus_P B)^C \rightarrow (A \# B)) = ((A \# B)^C \rightarrow (A \oplus_P B)) = (A \oplus_P B)$ ;
- (vii)  $((A \odot_P B) \rightarrow (A \# B)^C)^C = ((A \# B) \rightarrow (A \odot_P B)^C)^C = (A \odot_P B)$ ;
- (viii)  $((A \odot_P B)^C \rightarrow (A \# B)) = ((A \# B)^C \rightarrow (A \odot_P B)) = (A \# B)$ ;
- (ix)  $((A \oplus_P B) \rightarrow (A \$ B)^C)^C = ((A \$ B) \rightarrow (A \oplus_P B)^C)^C = (A \$ B)$ ;
- (x)  $((A \oplus_P B)^C \rightarrow (A \$ B)) = ((A \$ B)^C \rightarrow (A \oplus_P B)) = (A \oplus_P B)$ ;
- (xi)  $((A \odot_P B) \rightarrow (A \$ B)^C)^C = ((A \$ B) \rightarrow (A \odot_P B)^C)^C = (A \odot_P B)$ ;
- (xii)  $((A \odot_P B)^C \rightarrow (A \$ B)) = ((A \$ B)^C \rightarrow (A \odot_P B)) = (A \$ B)$ ;
- (xiii)  $((A \oplus_P B) \rightarrow (A B)^C)^C = ((A B) \rightarrow (A \oplus_P B)^C)^C = (A \odot_P B)$ ;
- (xiv)  $((A \odot_P B)^C \rightarrow (A \oplus_P B)) = ((A \oplus_P B)^C \rightarrow (A \odot_P B)) = ((A \oplus_P B))$ ;

**Proof:** We prove (i), (iii), (v), (vii), (ix) and (xiii), other results can be proved analogously,

(i) From Definition in (2.3) and Lemma (2.4), we have  $((A \oplus_P B) \rightarrow (A @ B)^C)^C$

$$= \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2+(\mu_B(x))^2}{2}}, \sqrt{\frac{(\nu_A(x))^2+(\nu_B(x))^2}{2}} \right\rangle \mid x \in X \right\} = A @ B \quad (4)$$

And

$$((A @ B) \rightarrow (A \oplus_P B)^C)^C = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2+(\mu_B(x))^2}{2}}, \sqrt{\frac{(\nu_A(x))^2+(\nu_B(x))^2}{2}} \right\rangle \mid x \in X \right\} = A @ B \quad (5)$$

From (4) and (5), we get the result (i).

(iii) Using Definition in (2.3) and Lemma (2.4), we have

$$((A \odot_P B) \rightarrow (A @ B)^C)^C = \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(\nu_A(x))^2 + (\nu_B(x))^2 - (\nu_A(x))^2(\nu_B(x))^2}} \right\rangle \mid x \in X \right\} = A \odot_P B \quad (6)$$

And

$$((A @ B) \rightarrow (A \odot_P B)^C)^C = \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(\nu_A(x))^2 + (\nu_A(x))^2 - (\nu_A(x))^2(\nu_A(x))^2}} \right\rangle \mid x \in X \right\} = A \odot_P B \quad (7)$$

From (6) and (7), we get the result (iii).

(v) From Definition in (2.3) and Lemma (2.4), we have

$$\begin{aligned} & ((A \oplus_p B) \rightarrow (A\#B)^c)^c \\ &= \left\{ \left\langle x, \frac{\sqrt{2}\mu_A(x)\mu_B(x)}{\sqrt{(\mu_A(x))^2 + (\mu_B(x))^2}}, \frac{\sqrt{2}v_A(x)v_B(x)}{\sqrt{(v_A(x))^2 + (v_B(x))^2}} \right\rangle \mid x \in X \right\} \\ &= A\#B \quad (8) \end{aligned}$$

And

$$\begin{aligned} & ((A\#B) \rightarrow (A \oplus_p B)^c)^c \\ &= \left\{ \left\langle x, \frac{\sqrt{2}\mu_A(x)\mu_B(x)}{\sqrt{(\mu_A(x))^2 + (\mu_B(x))^2}}, \frac{\sqrt{2}v_A(x)v_B(x)}{\sqrt{(v_A(x))^2 + (v_B(x))^2}} \right\rangle \mid x \in X \right\} \\ &= A\#B \quad (9) \end{aligned}$$

From (8) and (9), we get the result (v).

(vii) Using Definition in (2.3) and Lemma (2.4), we have

$$\begin{aligned} & ((A \odot_p B) \rightarrow (A\#B)^c)^c \\ &= \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2}} \right\rangle \mid x \in X \right\} \\ &= A \odot_p B \quad (10) \end{aligned}$$

And

$$\begin{aligned} & ((A\#B) \rightarrow (A \odot_p B)^c)^c \\ &= \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2}} \right\rangle \mid x \in X \right\} \\ &= A \odot_p B \quad (11) \end{aligned}$$

From (10) and (11), we get the result (vii).

(ix) From Definition in (2.3) and Lemma (2.4), we have

$$\begin{aligned} & ((A \oplus_p B) \rightarrow (A\$B)^c)^c \\ &= \left\{ \left\langle x, \sqrt{\mu_A(x)\mu_B(x)}, \sqrt{v_A(x)v_B(x)} \right\rangle \mid x \in X \right\} \\ &= A\$B \quad (12) \end{aligned}$$

And

$$\begin{aligned} & ((A\$B) \rightarrow (A \oplus_p B)^c)^c \\ &= \left\{ \left\langle x, \sqrt{\mu_A(x)\mu_B(x)}, \sqrt{v_A(x)v_B(x)} \right\rangle \mid x \in X \right\} \\ &= A\$B \quad (13) \end{aligned}$$

From (12) and (13), we get the result (ix).

(xi) Using Definition in (2.3) and Lemma (2.4), we have

$$\begin{aligned} & ((A \odot_p B) \rightarrow (A\$B)^c)^c \\ &= \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(v_A(x))^2 + (v_A(x))^2 - (v_A(x))^2(v_A(x))^2}} \right\rangle \mid x \in X \right\} \\ &= A \odot_p B \quad (14) \end{aligned}$$

And

$$\begin{aligned} & ((A\$B) \rightarrow (A \odot_p B)^c)^c \\ &= \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2}} \right\rangle \mid x \in X \right\} \end{aligned}$$

$$= A \odot_p B \quad (15)$$

From (14) and (15), we get the result (xi).

(xiii) From Definition in (2.3) and Lemma (2.4), we have

$$\begin{aligned} & ((A \oplus_p B) \rightarrow (A \odot_p B)^c)^c \\ &= \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2}} \right\rangle \mid x \in X \right\} \\ &= A \odot_p B \quad (16) \end{aligned}$$

And

$$\begin{aligned} & ((A \odot_p B) \rightarrow (A \oplus_p B)^c)^c \\ &= \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2}} \right\rangle \mid x \in X \right\} \\ &= A \odot_p B \quad (17) \end{aligned}$$

From (16) and (17), we get the result (xiii).

The proof of the following Corollaries follows from Theorem 3.3,

**Corollary 3.4:** For  $A, B \in PFS(X)$ ,

$$\begin{aligned} & ((A \odot_p B) \rightarrow (A@B)^c)^c = ((A@B) \rightarrow (A \odot_p B)^c)^c \\ &= ((A \odot_p B) \rightarrow (A\#B)^c)^c = ((A\#B) \rightarrow (A \odot_p B)^c)^c \\ &= ((A \odot_p B) \rightarrow (A\$B)^c)^c = ((A\$B) \rightarrow (A \odot_p B)^c)^c \\ &= ((A \oplus_p B) \rightarrow (A \odot_p B)^c)^c = ((A \odot_p B) \rightarrow (A \oplus_p B)^c)^c \\ &= (A \odot_p B) \end{aligned}$$

**Corollary 3.5:** For  $A, B \in PFS(X)$ ,

$$\begin{aligned} & ((A \oplus_p B)^c \rightarrow (A@B)) = ((A@B)^c \rightarrow (A \oplus_p B)) \\ &= ((A \oplus_p B)^c \rightarrow (A\#B)) = ((A\#B)^c \rightarrow (A \oplus_p B)) \\ &= ((A \oplus_p B)^c \rightarrow (A\$B)) = ((A\$B)^c \rightarrow (A \oplus_p B)) \\ &= ((A \odot_p B)^c \rightarrow (A \oplus_p B)) = ((A \oplus_p B)^c \rightarrow (A \odot_p B)) \\ &= (A \oplus_p B) \end{aligned}$$

**Theorem 3.6:** For  $A, B \in PFS(X)$ ,

$$\begin{aligned} & [((A^c \rightarrow B) \oplus_p (A \rightarrow B^c)^c) @ ((A^c \rightarrow B) \odot_p (A \rightarrow B^c)^c)] \\ &= (A@B). \end{aligned}$$

**Proof:** From Definition in (2.3) and Lemma (2.4), we have

$$\begin{aligned} & [(A^c \rightarrow B) \oplus_p (A \rightarrow B^c)^c] = \\ & \left\{ \left\langle x, \frac{\sqrt{(\mu_A(x))^2 + (\mu_B(x))^2 - (\mu_A(x))^2(\mu_B(x))^2}}{v_A(x)v_B(x)} \right\rangle \mid x \in X \right\} \quad (18) \end{aligned}$$

and

$$\begin{aligned} & [(A^c \rightarrow B) \odot_p (A \rightarrow B^c)^c] = \\ & \left\{ \left\langle x, \frac{\mu_A(x)\mu_B(x)}{\sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2}} \right\rangle \mid x \in X \right\} \quad (19) \end{aligned}$$

Now with @ of (18) and (19),

$$[(A^c \rightarrow B) \oplus_p (A \rightarrow B^c)^c] @ [(A^c \rightarrow B) \odot_p (A \rightarrow B^c)^c]$$

$$= \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(v_A(x))^2 + (v_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \\ = (A@B)$$

**Theorem 3.7:** For  $A, B \in PFS(X)$ ,

$$\left[ ((A^c \rightarrow B) \oplus_P (A \rightarrow B^c)^c) \cap ((A^c \rightarrow B) \odot_P (A \rightarrow B^c)^c) \right] \\ @ \\ \left[ ((A^c \rightarrow B) \oplus_P (A \rightarrow B^c)^c) \cup ((A^c \rightarrow B) \odot_P (A \rightarrow B^c)^c) \right] \\ = (A@B)$$

**Proof:**

Taking with  $\cap$  of (18) and (19), we get

$$\left[ ((A^c \rightarrow B) \oplus_P (A \rightarrow B^c)^c) \cap ((A^c \rightarrow B) \odot_P (A \rightarrow B^c)^c) \right] \\ = \left\{ \left\langle x, \mu_A(x)\mu_B(x), \sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2)} \right\rangle \mid x \in X \right\} \quad (20)$$

Again taking with  $\cup$  of (18) and (19),

$$\left[ ((A^c \rightarrow B) \oplus_P (A \rightarrow B^c)^c) \cup ((A^c \rightarrow B) \odot_P (A \rightarrow B^c)^c) \right] \\ = \left\{ \left\langle x, \sqrt{(\mu_A(x))^2 + (\mu_B(x))^2 - (\mu_A(x))^2(\mu_B(x))^2)}, v_A(x)v_B(x) \right\rangle \mid x \in X \right\} \quad (21)$$

Now with  $@$  of (20) and (21),

$$\left[ ((A^c \rightarrow B) \oplus_P (A \rightarrow B^c)^c) \cap ((A^c \rightarrow B) \odot_P (A \rightarrow B^c)^c) \right] \\ @ \left[ ((A^c \rightarrow B) \oplus_P (A \rightarrow B^c)^c) \cup ((A^c \rightarrow B) \odot_P (A \rightarrow B^c)^c) \right] \\ = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(v_A(x))^2 + (v_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \\ = A@B$$

**Theorem 3.8:** For  $A, B \in PFS(X)$ ,

$$\left[ ((A \oplus_P B) \rightarrow (A@B)^c)^c \cup ((A \odot_P B) \rightarrow (A@B)^c)^c \right] \\ \cup \left[ ((A \oplus_P B) \rightarrow (A@B)^c)^c \cap ((A \odot_P B) \rightarrow (A@B)^c)^c \right] \\ = A@B.$$

**Proof:**

From Theorem 3.3 and Lemma (2.4), we have

$$((A \oplus_P B) \rightarrow (A@B)^c)^c \\ = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(v_A(x))^2 + (v_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \quad (22)$$

and

$$((A \odot_P B) \rightarrow (A@B)^c)^c \\ = \left\{ \left\langle x, \mu_A(x)\mu_B(x), \sqrt{(v_A(x))^2 + (v_A(x))^2 - (v_A(x))^2(v_A(x))^2)} \right\rangle \mid x \in X \right\} \quad (23)$$

Now with  $\cup$  of (22) and (23),

$$\left[ ((A \oplus_P B) \rightarrow (A@B)^c)^c \cup ((A \odot_P B) \rightarrow (A@B)^c)^c \right] \\ = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(v_A(x))^2 + (v_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \quad (24)$$

and with  $\cap$  of (22) and (23),

$$\left[ ((A \oplus_P B) \rightarrow (A@B)^c)^c \cap ((A \odot_P B) \rightarrow (A@B)^c)^c \right] \\ = \left\{ \left\langle x, \mu_A(x)\mu_B(x), \sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2)} \right\rangle \mid x \in X \right\} \quad (25)$$

Now we consider,

$$\left[ ((A \oplus_P B) \rightarrow (A@B)^c)^c \cup ((A \odot_P B) \rightarrow (A@B)^c)^c \right] \cup \\ \left[ ((A \oplus_P B) \rightarrow (A@B)^c)^c \cap ((A \odot_P B) \rightarrow (A@B)^c)^c \right] \\ = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(v_A(x))^2 + (v_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \\ = A@B$$

**Theorem 3.9:** For  $A, B \in PFS(X)$ ,

$$\left[ ((A \oplus_P B) \rightarrow (A@B)^c)^c \cup ((A \odot_P B) \rightarrow (A@B)^c)^c \right] \cap \\ \left[ ((A \oplus_P B) \rightarrow (A@B)^c)^c \cap ((A \odot_P B) \rightarrow (A@B)^c)^c \right] = A \odot_P B.$$

**Proof:**

The proof is similar to Theorem 3.8.

**Theorem 3.10:** For  $A, B \in PFS(X)$ ,

$$((A \oplus_P B)^c \rightarrow (A@B)) @ ((A \odot_P B) \rightarrow (A@B)^c)^c = (A@B)$$

**Proof:** Using Definition in (2.3) and Lemma (2.4), we have

$$((A \oplus_P B)^c \rightarrow (A@B)) \\ = \left\{ \left\langle x, \sqrt{(\mu_A(x))^2 + (\mu_B(x))^2 - (\mu_A(x))^2(\mu_B(x))^2}, v_A(x)v_B(x) \right\rangle \mid x \in X \right\} \quad (26)$$

and

$$((A \odot_P B) \rightarrow (A@B)^c)^c \\ = \left\{ \left\langle x, \mu_A(x)\mu_B(x), \sqrt{(v_A(x))^2 + (v_B(x))^2 - (v_A(x))^2(v_B(x))^2)} \right\rangle \mid x \in X \right\} \quad (27)$$

Now with  $@$  of (26) and (27),

$$((A \oplus_P B)^c \rightarrow (A@B)) @ ((A \odot_P B) \rightarrow (A@B)^c)^c \\ = \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(v_A(x))^2 + (v_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \\ = A@B$$

**Theorem 3.11:** For  $A, B \in PFS(X)$ ,

$$((A \oplus_P B)^c \rightarrow (A\#B)) @ ((A \odot_P B) \rightarrow (A\#B)^c)^c = (A@B)$$

**Proof:** Using Definition in (2.3) and Lemma (2.4), we have

$$= \left\{ \left\langle x, \frac{\sqrt{(\mu_A(x))^2 + (\mu_B(x))^2 - (\mu_A(x))^2(\mu_B(x))^2}}{v_A(x)v_B(x)}, \right\rangle \right\} \quad (28)$$

and

$$\begin{aligned} & ((A \odot_P B) \rightarrow (A \# B))^C \\ &= \left\{ \left\langle x, \mu_A(x)\mu_B(x), \right\rangle \right\} \\ & \left\{ \left\langle \frac{\sqrt{(\mu_A(x))^2 + (\mu_B(x))^2 - (\mu_A(x))^2(\mu_B(x))^2}}{v_A(x)v_B(x)}, \right\rangle \right\} \quad (29) \end{aligned}$$

Now with @ of (28) and (29),

$$\begin{aligned} & ((A \oplus_P B)^C \rightarrow (A \# B)) @ ((A \odot_P B) \rightarrow (A \# B))^C \\ &= \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \\ &= A @ B \end{aligned}$$

**Theorem 3.12:** For  $A, B \in PFS(X)$ ,  
 $((A \oplus_P B)^C \rightarrow (A \# B)) @ ((A \odot_P B) \rightarrow (A \# B))^C = (A @ B)$

**Proof:** Using Definition in (2.3) and Lemma (2.4), we have

$$((A \oplus_P B)^C \rightarrow (A \# B)) = \left\{ \left\langle x, \frac{\sqrt{(\mu_A(x))^2 + (\mu_B(x))^2 - (\mu_A(x))^2(\mu_B(x))^2}}{v_A(x)v_B(x)}, \right\rangle \right\} \quad (30)$$

and

$$((A \odot_P B) \rightarrow (A \# B))^C = \left\{ \left\langle x, \mu_A(x)\mu_B(x), \right\rangle \right\} \quad (31)$$

Now with @ of (30) and (31),

$$\begin{aligned} & ((A \oplus_P B)^C \rightarrow (A \# B)) @ ((A \odot_P B) \rightarrow (A \# B))^C \\ &= \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \\ &= A @ B \end{aligned}$$

**Theorem 3.13:** For  $A, B \in PFS(X)$ ,  
 $((A \odot_P B)^C \rightarrow (A \oplus_P B)) @ ((A \oplus_P B) \rightarrow (A \odot_P B))^C = (A @ B)$

**Proof:** Using Definition in (2.3) and Lemma (2.4), we have

$$((A \odot_P B)^C \rightarrow (A \oplus_P B)) = \left\{ \left\langle x, \frac{\sqrt{(\mu_A(x))^2 + (\mu_B(x))^2 - (\mu_A(x))^2(\mu_B(x))^2}}{v_A(x)v_B(x)}, \right\rangle \right\} \quad (32)$$

and

$$((A \oplus_P B) \rightarrow (A \odot_P B))^C = \left\{ \left\langle x, \mu_A(x)\mu_B(x), \right\rangle \right\} \quad (33)$$

Now with @ of (32) and (33),

$$\begin{aligned} & ((A \odot_P B)^C \rightarrow (A \oplus_P B)) @ ((A \oplus_P B) \rightarrow (A \odot_P B))^C \\ &= \left\{ \left\langle x, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}}, \sqrt{\frac{(\mu_A(x))^2 + (\mu_B(x))^2}{2}} \right\rangle \mid x \in X \right\} \\ &= A @ B \end{aligned}$$

## 4 CONCLUDING REMARKS

The properties proved here provide an insight into the PFSs, under the set operations defined earlier in the literature. Our study prompts for further properties as also for defining possibly new operations. Thus there remains scope for studying more properties of these sets arising from those other defining set operations that may be thought of using other ways of combining the functions  $\mu, v$ .

## REFERENCES

- [1] K.T. Atanassov, Intuitionistic fuzzy sets, Fuzzy set and Systems, Vol.20(1)(1986),87-96.
- [2] K. T. Atanassov, New operators defined over the intuitionistic fuzzy sets, Fuzzy Set and Systems, 61(1994), 137-142. North Holland.
- [3] K.T. Atanassov, Intuitionistic fuzzy sets, Springer Physica-Verlag, Heidelberg, 1999.
- [4] K.T. Atanassov, Remarks on equalities between intuitionistic fuzzy sets, Notes on Intuitionistic Fuzzy Sets, Vol.16 (3) (2010), 40-41.
- [5] X. Peng and Y. Yang, "Some results for Pythagorean fuzzy sets," International Journal of Intelligent Systems, vol. 30, no. 11, pp. 1133-1160,(2015).
- [6] Peng, X.D. and Yuan, H.Y. "Fundamental properties of Pythagorean fuzzy aggregation operators", Fund. Inform., Vol.147(4), pp. 415-446(2016).
- [7] X.Peng, Algorithm for Pythagorean Fuzzy Multi-criteria Decision Making Based on WDBA with New Score Function, Fundamanta Informaticae, Vol.165(2019) 99-137. DOI: 10.3233/FI-2019-1778.
- [8] X.Peng, New Operators for Intervl-valued Pythagorean Fuzzy Set, Scientia Iranica E (2019) 26(2), 1049-1076.
- [9] R.K. Verma and B.D. Sharma, Intuitionistic fuzzy sets; Some new results, Notes on Intuitionistic Fuzzy Sets, Vol.17(3)(2011),1-10.
- [10] R. R. Yager, Pythagorean fuzzy subsets, In:Proc Joint IFSA World Congress and NAFIPS Annual Meeting, Edmonton, Canada, (2013) 57-61.
- [11] R. R. Yager, Pythagorean membership grades in multi-criteria decision making, IEEE Transactions on Fuzzy Systems, Vol.22 (2014) 958-965.